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DIFENTION

_________________________________________________________________________________ @

Glycolysis is the process in which glucose is broken down to produce
energy (ATP) , pyruvate , ADH and water.




Discuss mechanism of glycolysis

_________________________________________________________________________________ @

Glycolysis has 10 steps and it’s about breaking down
glucose into pyruvate molecules
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10- Kkinase:
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ENZAYMS RESULT

¢ The overall process of glycolysis Results in The following events:

* Instep 1 and 3: 2 ATP has been consumed .
* In step 6: 2 NADH will produce 6 ATP .

* In step 7 and 9: 4 ATP has been produced .
* Total: 8 ATP.




Importance of glycolysis
_________________________________________________________________________________ @

1. Glycolysis is the first of the main metabolic pathways of

cellular respiration to produce energy the ATP

2. Pyruvate the end product of glycolysis provides precursor for
the TCA cycle( tricarboxylic acid cycle) and for the synthesis
of other compounds

3. Oxygenation of tissues formation of 2,3biphosphoglycerate ,

which decreases the affinity of hemoglobin to O2




Memprone
Aerobic

Anaerobic

—— ! an mliochondd&

/—*ﬁi"’ : —
@>
(=

& Carbon Compound | Glucose |

Loss of hydrogen - axldafbnl

+O
Pyruvate =
3 Carbon Compound L Acld I C O, + Hol
o Homolactic
Yeast I‘ermentafior/ L\Z__AI_I:,- &mnfaﬂon 34 ADP 34 ATP
Alcohol + Lactic
CO2 Acid

Mitochondrion




SUMMARY

« Glycolysis : breaking down the glucose to
produce energy.

- The glycolysis goes through 10 steps as shown
above; the first 5 steps is ATP consumption and
the last 5 steps is manufacturing ATP.

- The end product of glycolysis it exhibits 2 paths
(aerobic and anaerobic) in aerobic the process it
done in the mitochondria while in anaerobic it
done in the cytosol.
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